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Use the standard subtraction algorithm to solve the problem below.
1.

6 0 ¢ 4 0 0
_ 7 2 6 4 9 | am not ready to subtract.

| must regroup.

Somple Student A Response:

9 9 :
5 10 1 work unit by unit, starting with the ones. | can rename
/@W/@//B/ 4 hundreds as 3 hundreds 10 tens. Then, | rename 10
4
_— E

tens as 9 tens 10 ones. I'll continue to decompose until |
am ready to subtract.

13
5 9 9 .37 9 10
6B, 4O B
-~ 7 2, 6 4 9 :
5 2 7 7_5 1 ‘ﬁ | need more ones. I unbundle 40 tens as 39 tens 10 ones. }
| need more than 3 hundreds to subtract 6
hundreds. T canrrename the 600 thousands as 599
thousands 10 hundreds. 10 hundreds plus 3
hundreds is 13 hundreds.
e tesson15: Use place value understanding to fluently decompose to smalfer units
S multiple times in any place using the standard subtraction algorithm, and
MAFHm apply the algorithm to solve word problems using tape disgrams.
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Use a tape diagram and the standard algorithm to solve the problem below. Check youranswer.

2. The cost of the Johnston’s new home was $200,000. They paid for most of it and now owe $33,562.
How much have they already paid?

$200, 000
A

$200,000 — $33,562 = P

. s\/ . i \\{;------ d
P $33,562

Somple Student A Response;

5 g 9 &
i 3 i :
W g There are a lot of decompositions!
P
8

5 &
, & 3

33:
£ & 6

Sample Student B Response:

4 I rename 20,000 tens as 19,999 tens 10 ones. ]

ig
2
8

| check my answer by adding the two parts. The sum is

i 6 6 4 3
equatl to the cost of the new home. My answer is correct!
+ 3 3 5 6 2
S RN S S
2 8 4 ¢ ¢ 9

The Johnstons have olrendy poid $166,438.

Use place value understanding to fluently decompose to simaller units
26 multiple times in any place using the standard subtraction algorithm, and EHMM
apply the algorithim to sajve word problems using tape diagrams. M A?H
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